

County of Hernando

Procurement Department

Carla Rossiter-Smith, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

EVALUATION TABULATION

C No. 24-CG00742/JG

Telecom Dr Pump Station Construction and Corporate Blvd Force Main Installation

RESPONSE DEADLINE: July 22, 2024 at 10:00 am Report Generated: Tuesday, July 23, 2024

SELECTED VENDOR TOTALS

Vendor	Total
Midsouth Inc.	\$1,045,494.30
B.R.W. Contracting, INC	\$1,086,100.00
Peak Power Services, Inc.	\$1,191,205.43
Art Walker Construction Inc.	\$1,333,690.00
DB Civil Construction	\$1,399,999.00
GWP Construction Inc	\$1,453,807.10
Cathcart Construction Company - Florida, LLC	\$1,675,685.00

SCHEDULE OF UNIT PRICES (Table 1 of 2)

TELECOM DRIVE PUMP STATION CORPORTATE BLVD. FORCE MAIN

	SCI	HEDULE OF UNIT	PRICES		Art Walke	r Construction I	nc.	B.R.W.	Contracting, IN	С		nstruction Comp lorida, LLC	any -	- DB Civil Construction			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	
Χ	1	Mobilization / Demobilization	1	LS	\$66,120.00	\$66,120.00	1	\$75,000.00	\$75,000.00	1	\$135,000.00	\$135,000.00	1	\$88,000.00	\$88,000.00	1	
Х	2	Bonding and Insurance	1	LS	\$18,000.00	\$18,000.00	2	\$16,300.00	\$16,300.00	2	\$45,000.00	\$45,000.00	2	\$16,800.00	\$16,800.00	2	
Х	3	Maintenance of Traffic	1	LS	\$21,000.00	\$21,000.00	3	\$15,000.00	\$15,000.00	3	\$13,000.00	\$13,000.00	3	\$3,560.00	\$3,560.00	3	
Χ	4	Survey Layout and As-builts	1	LS	\$34,000.00	\$34,000.00	4	\$15,000.00	\$15,000.00	4	\$24,000.00	\$24,000.00	4	\$12,000.00	\$12,000.00	4	
Х	5	Pre/Post Color Audio Video Records	1	LS	\$10,000.00	\$10,000.00	5	\$3,500.00	\$3,500.00	5	\$2,500.00	\$2,500.00	5	\$1,000.00	\$1,000.00	5	
Х	6	Erosion and Sediment Control	1	LS	\$23,600.00	\$23,600.00	6	\$25,000.00	\$25,000.00	6	\$8,000.00	\$8,000.00	6	\$4,500.00	\$4,500.00	6	
Х	7	Pump Station	1	LS	\$558,160.00	\$558,160.00	7	\$440,000.00	\$440,000.00	7	\$695,000.00	\$695,000.00	7	\$385,000.00	\$385,000.00	7	
Х	8	Generator, Transfer Switch	1	LS	\$130,200.00	\$130,200.00	8	\$85,000.00	\$85,000.00	8	\$108,000.00	\$108,000.00	8	\$100,000.00	\$100,000.00	8	
Х	9	Odor Control Plumbing	1	LS	\$9,320.00	\$9,320.00	9	\$3,600.00	\$3,600.00	9	\$7,000.00	\$7,000.00	9	\$13,000.00	\$13,000.00	9	
Х	10	Electrical	1	LS	\$100,625.00	\$100,625.00	10	\$125,000.00	\$125,000.00	10	\$135,000.00	\$135,000.00	10	\$340,000.00	\$340,000.00	10	

	SCI	HEDULE OF UNIT	PRICES		Art Walke	r Construction	Inc.	B.R.W.	Contracting, IN	C		nstruction Comp lorida, LLC	oany -	DB Civ	vil Construction	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	11	Site Grading	1	LS	\$12,000.00	\$12,000.00	11	\$4,550.00	\$4,550.00	11	\$14,000.00	\$14,000.00	11	\$33,000.00	\$33,000.00	11
X	12	Concrete Pads	1	LS	\$9,000.00	\$9,000.00	12	\$13,750.00	\$13,750.00	12	\$29,000.00	\$29,000.00	12	\$33,000.00	\$33,000.00	12
Х	13	Driveway	1	LS	\$21,000.00	\$21,000.00	13	\$5,500.00	\$5,500.00	13	\$21,000.00	\$21,000.00	13	\$22,000.00	\$22,000.00	13
X	14	Perimeter Fence	1	LS	\$18,940.00	\$18,940.00	14	\$25,000.00	\$25,000.00	14	\$32,000.00	\$32,000.00	14	\$36,000.00	\$36,000.00	14
X	15	Sod Restoration of Disturbed Areas	7000	SY	\$9.50	\$66,500.00	15	\$4.50	\$31,500.00	15	\$7.00	\$49,000.00	15	\$4.00	\$28,000.00	15
Х	16	12" PVC Gravity Sewer	33	LF	\$290.00	\$9,570.00	16	\$75.00	\$2,475.00	16	\$800.00	\$26,400.00	16	\$300.00	\$9,900.00	16
X	17	Coated Manhole	1	EA	\$7,200.00	\$7,200.00	17	\$13,500.00	\$13,500.00	17	\$21,000.00	\$21,000.00	17	\$30,000.00	\$30,000.00	17
6" PVC FC	ORCE N	MAIN	1	l				l		1	l		Į.		J	
X	18	6" PVC Force Main by Open Cut	1840	LF	\$40.00	\$73,600.00	18.01	\$45.00	\$82,800.00	18.01	\$77.00	\$141,680.00	18.01	\$56.00	\$103,040.00	18.01
Х	19	12"x6" Tie-in	1	EA	\$3,000.00	\$3,000.00	18.02	\$500.00	\$500.00	18.02	\$8,000.00	\$8,000.00	18.02	\$3,500.00	\$3,500.00	18.02
X	20	12"x6" Tapping Sleeve	1	EA	\$8,675.00	\$8,675.00	18.03	\$7,000.00	\$7,000.00	18.03	\$7,100.00	\$7,100.00	18.03	\$8,000.00	\$8,000.00	18.03
X	21	6" Gate Valve	3	EA	\$2,205.00	\$6,615.00	18.04	\$2,500.00	\$7,500.00	18.04	\$3,000.00	\$9,000.00	18.04	\$2,900.00	\$8,700.00	18.04
Х	22	6" MJ 11.25 Deg Bend	11	EA	\$1,005.00	\$11,055.00	18.05	\$955.00	\$10,505.00	18.05	\$1,500.00	\$16,500.00	18.05	\$1,350.00	\$14,850.00	18.05

EVALUATION TABULATION

Invitation to Bid - Telecom Dr Pump Station Construction and Corporate Blvd Force Main Installation Page 3

	SCH	HEDULE OF UNIT	PRICES		Art Walke	er Construction	Inc.	B.R.W.	Contracting, IN	С		nstruction Com lorida, LLC	pany -	DB Civ	ril Construction	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	23	6" MJ 22.5 Deg Bend	7	EA	\$1,005.00	\$7,035.00	18.06	\$950.00	\$6,650.00	18.06	\$1,500.00	\$10,500.00	18.06	\$1,350.00	\$9,450.00	18.06
Х	24	6" MJ 45 Deg Bend	1	EA	\$1,005.00	\$1,005.00	18.07	\$970.00	\$970.00	18.07	\$1,450.00	\$1,450.00	18.07	\$1,350.00	\$1,350.00	18.07
X	25	6" MJ Cap	1	EA	\$780.00	\$780.00	18.08	\$700.00	\$700.00	18.08	\$900.00	\$900.00	18.08	\$1,200.00	\$1,200.00	18.08
X	26	6" x 6" MJ Tee	1	EA	\$1,410.00	\$1,410.00	18.09	\$1,200.00	\$1,200.00	18.09	\$1,800.00	\$1,800.00	18.09	\$1,900.00	\$1,900.00	18.09
X	27	1" ARV	2	EA	\$23,115.00	\$46,230.00	18.10	\$15,000.00	\$30,000.00	18.10	\$32,000.00	\$64,000.00	18.10	\$25,000.00	\$50,000.00	18.10
X	28	Unsuitable Material Excavation	50	CY	\$65.00	\$3,250.00	18.11	\$25.00	\$1,250.00	18.11	\$25.00	\$1,250.00	18.11	\$30.00	\$1,500.00	18.11
X	29	Permits	1	LS	\$3,000.00	\$3,000.00	19	\$3,500.00	\$3,500.00	19	\$1,400.00	\$1,400.00	19	\$500.00	\$500.00	19
Х	30	Gopher Tortoise Survey and Permitting	1	LS	\$1,800.00	\$1,800.00	20	\$1,600.00	\$1,600.00	20	\$7,500.00	\$7,500.00	20	\$8,449.00	\$8,449.00	20
Х	31	Gopher Tortoise Burrow Exploration	5	EA	\$4,800.00	\$24,000.00	21	\$825.00	\$4,125.00	21	\$3,000.00	\$15,000.00	21	\$2,400.00	\$12,000.00	21
Х	32	Gopher Tortoise Relocation	3	EA	\$8,400.00	\$25,200.00	22	\$7,500.00	\$22,500.00	22	\$8,100.00	\$24,300.00	22	\$6,500.00	\$19,500.00	22

EVALUATION TABULATION

	SCH	EDULE OF UNIT	PRICES		Art Walke	er Construction I	nc.	B.R.W.	Contracting, INC			nstruction Comp Florida, LLC	any -	DB Civ	vil Construction	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	33	Gopher Tortoise Burrow Monitoring During Construction	3	EA	\$600.00	\$1,800.00	23	\$1,875.00	\$5,625.00	23	\$135.00	\$405.00	23	\$100.00	\$300.00	23
Total						\$1,333,690.00			\$1,086,100.00			\$1,675,685.00			\$1,399,999.00	

SCHEDULE OF UNIT PRICES (Table 2 of 2)

TELECOM DRIVE PUMP STATION CORPORTATE BLVD. FORCE MAIN

	SCH	EDULE OF UNIT P	RICES		GW	P Construction	Inc		Midsouth Inc.		Peak Power Services, Inc.			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	
Х	1	Mobilization / Demobilization	1	LS	\$136,799.00	\$136,799.00	1	\$48,890.00	\$48,890.00	1	\$65,000.00	\$65,000.00	1	
X	2	Bonding and Insurance	1	LS	\$31,500.00	\$31,500.00	2	\$12,240.00	\$12,240.00	2	\$51,441.71	\$51,441.71	2	
X	3	Maintenance of Traffic	1	LS	\$60,357.00	\$60,357.00	3	\$4,520.00	\$4,520.00	3	\$18,003.70	\$18,003.70	3	
X	4	Survey Layout and As-builts	1	LS	\$35,043.10	\$35,043.10	4	\$21,580.00	\$21,580.00	4	\$15,242.50	\$15,242.50	4	
Х	5	Pre/Post Color Audio Video Records	1	LS	\$2,801.50	\$2,801.50	5	\$1,660.00	\$1,660.00	5	\$2,041.00	\$2,041.00	5	
Х	6	Erosion and Sediment Control	1	LS	\$9,240.00	\$9,240.00	6	\$6,860.00	\$6,860.00	6	\$8,827.03	\$8,827.03	6	

	SCHI	EDULE OF UNIT P	RICES		GW	P Construction I	nc		Midsouth Inc.		Peak	Power Services,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Χ	7	Pump Station	1	LS	\$500,000.00	\$500,000.00	7	\$293,300.00	\$293,300.00	7	\$510,090.44	\$510,090.44	7
Х	8	Generator, Transfer Switch	1	LS	\$139,983.00	\$139,983.00	8	\$96,450.00	\$96,450.00	8	\$115,750.72	\$115,750.72	8
Х	9	Odor Control Plumbing	1	LS	\$12,333.80	\$12,333.80	9	\$2,630.00	\$2,630.00	9	\$6,721.76	\$6,721.76	9
Х	10	Electrical	1	LS	\$96,838.90	\$96,838.90	10	\$31,850.00	\$31,850.00	10	\$18,850.00	\$18,850.00	10
Х	11	Site Grading	1	LS	\$15,452.30	\$15,452.30	11	\$24,920.00	\$24,920.00	11	\$21,341.80	\$21,341.80	11
Х	12	Concrete Pads	1	LS	\$11,670.70	\$11,670.70	12	\$13,330.00	\$13,330.00	12	\$7,540.00	\$7,540.00	12
Х	13	Driveway	1	LS	\$32,610.40	\$32,610.40	13	\$36,410.00	\$36,410.00	13	\$20,806.50	\$20,806.50	13
Х	14	Perimeter Fence	1	LS	\$18,497.30	\$18,497.30	14	\$11,635.00	\$11,635.00	14	\$10,075.00	\$10,075.00	14
Х	15	Sod Restoration of Disturbed Areas	7000	SY	\$5.30	\$37,100.00	15	\$9.30	\$65,100.00	15	\$6.13	\$42,910.00	15
Х	16	12" PVC Gravity Sewer	33	LF	\$2,011.20	\$66,369.60	16	\$580.10	\$19,143.30	16	\$1,193.65	\$39,390.45	16
Х	17	Coated Manhole	1	EA	\$22,926.20	\$22,926.20	17	\$26,650.00	\$26,650.00	17	\$27,085.67	\$27,085.67	17
6" PVC FORC	CE MAIN				ļ							I	
Х	18	6" PVC Force Main by Open Cut	1840	LF	\$59.70	\$109,848.00	18.01	\$62.40	\$114,816.00	18.01	\$44.85	\$82,524.00	18.01

EVALUATION TABULATION

Invitation to Bid - Telecom Dr Pump Station Construction and Corporate Blvd Force Main Installation Page 6

	SCH	EDULE OF UNIT P	RICES		GW	P Construction	Inc		Midsouth Inc.		Peak	Power Services,	Inc.
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	19	12"x6" Tie-in	1	EA	\$7,963.20	\$7,963.20	18.02	\$10,230.00	\$10,230.00	18.02	\$6,445.18	\$6,445.18	18.02
Х	20	12"x6" Tapping Sleeve	1	EA	\$9,031.30	\$9,031.30	18.03	\$10,250.00	\$10,250.00	18.03	\$4,726.95	\$4,726.95	18.03
Х	21	6" Gate Valve	3	EA	\$2,500.60	\$7,501.80	18.04	\$2,810.00	\$8,430.00	18.04	\$1,926.51	\$5,779.53	18.04
X	22	6" MJ 11.25 Deg Bend	11	EA	\$825.90	\$9,084.90	18.05	\$1,030.00	\$11,330.00	18.05	\$921.28	\$10,134.08	18.05
X	23	6" MJ 22.5 Deg Bend	7	EA	\$820.70	\$5,744.90	18.06	\$1,020.00	\$7,140.00	18.06	\$914.29	\$6,400.03	18.06
X	24	6" MJ 45 Deg Bend	1	EA	\$837.40	\$837.40	18.07	\$1,050.00	\$1,050.00	18.07	\$932.46	\$932.46	18.07
Х	25	6" MJ Cap	1	EA	\$788.10	\$788.10	18.08	\$780.00	\$780.00	18.08	\$689.29	\$689.29	18.08
Х	26	6" x 6" MJ Tee	1	EA	\$1,142.50	\$1,142.50	18.09	\$1,370.00	\$1,370.00	18.09	\$1,298.77	\$1,298.77	18.09
X	27	1" ARV	2	EA	\$18,824.20	\$37,648.40	18.10	\$22,450.00	\$44,900.00	18.10	\$22,656.68	\$45,313.36	18.10
X	28	Unsuitable Material Excavation	50	CY	\$31.00	\$1,550.00	18.11	\$312.50	\$15,625.00	18.11	\$37.94	\$1,897.00	18.11
X	29	Permits	1	LS	\$6,914.30	\$6,914.30	19	\$4,170.00	\$4,170.00	19	\$6,896.50	\$6,896.50	19
X	30	Gopher Tortoise Survey and Permitting	1	LS	\$1,369.50	\$1,369.50	20	\$1,620.00	\$1,620.00	20	\$1,950.00	\$1,950.00	20

	SCH	EDULE OF UNIT P	RICES		GW	/P Construction I	nc		Midsouth Inc.		Peak Power Services, Inc.		
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	ltem No.	Unit Cost	Total	Item No.	Unit Cost	Total	Item No.
Х	31	Gopher Tortoise Burrow Exploration	5	EA	\$715.00	\$3,575.00	21	\$4,230.00	\$21,150.00	21	\$975.00	\$4,875.00	21
Х	32	Gopher Tortoise Relocation	3	EA	\$6,600.00	\$19,800.00	22	\$23,400.00	\$70,200.00	22	\$8,125.00	\$24,375.00	22
X	33	Gopher Tortoise Burrow Monitoring During Construction	3	EA	\$495.00	\$1,485.00	23	\$1,755.00	\$5,265.00	23	\$1,950.00	\$5,850.00	23
Total	1	1	1	1		\$1,453,807.10			\$1,045,494.30			\$1,191,205.43	



Alisa Pike, Procurement Coordinator